

# 10/25/2022

ASPEN GROUP JOB

Tower C - LVL 1

SERVICE	ITEM COST	QUANTITY	TOTAL
PRIVACY SET INSTALLATION	\$45.00	1	\$45.00
POCKET PRIVACY SET INSTALLATION	\$45.00	3	\$135.00
FLUSH PULL INSTALLATION	\$25.00	8	\$200.00
PRIVACY SET FULL PREP	\$75.00	1	\$75.00
POCKET PRIVACY SET FULL PREP	\$110.00	3	\$330.00
FLUSH PULL FULL PREP	\$65.00	8	\$520.00
DOOR-STOP INSTALLATION	\$5.00	1	\$5.00

TOTAL: \$1,310.00



## 10/25/2022

BID TO JOB

ASPEN GROUP TOWER C - UNIT L

SERVICE	ITEM COST	QUANTITY	TOTAL
PASSAGE SET INSTALLATION	\$55.00	4	\$220.00
PRIVACY SET INSTALLATION	\$55.00	9	\$495.00
ENTRY (DEAD BOLT) INSTALLATION	\$45.00	2	\$90.00
POCKET PRIVACY SET INSTALLATION	\$65.00	4	\$260.00
POCKET PASSAGE SET INSTALLATION	\$65.00	2	\$130.00
FLUSH PULL INSTALLATION	\$25.00	4	\$100.00
PASSAGE SET FULL PREP	\$75.00	4	\$300.00
PRIVACY SET FULL PREP	\$75.00	9	\$675.00
ENTRY (DEAD BOLT) FULL PREP	\$75.00	2	\$150.00
POCKET PRIVACY SET FULL PREP	\$110.00	4	\$440.00
POCKET PASSAGE SET FULL PREP	\$95.00	2	\$190.00
FLUSH PULL FULL PREP	\$65.00	4	\$260.00
DOOR-STOP INSTALLATION	\$10.00	7	\$70.00

TOTAL.	\$3.380.00
TUTAL:	30.3.3811.1111
. — .,	¥=,====



## 10/25/2022

BID TO JOB

ASPEN GROUP Tower C - Unit M

SERVICE	ITEM COST	QUANTITY	TOTAL
PASSAGE SET INSTALLATION	\$55.00	24	\$1,320.00
PRIVACY SET INSTALLATION	\$55.00	66	\$3,630.00
ENTRY (DEAD BOLT) INSTALLATION	\$45.00	12	\$540.00
POCKET PRIVACY SET INSTALLATION	\$65.00	30	\$1,950.00
POCKET PASSAGE SET INSTALLATION	\$65.00	12	\$780.00
FLUSH PULL INSTALLATION	\$25.00	36	\$900.00
PASSAGE SET FULL PREP	\$75.00	24	\$1,800.00
PRIVACY SET FULL PREP	\$75.00	66	\$4,950.00
ENTRY (DEAD BOLT) FULL PREP	\$75.00	12	\$1,125.00
POCKET PRIVACY SET FULL PREP	\$110.00	30	\$3,300.00
POCKET PASSAGE SET FULL PREP	\$95.00	12	\$1,140.00
FLUSH PULL FULL PREP	\$65.00	36	\$2,340.00
DOOR-STOP INSTALLATION	\$10.00	48	\$480.00



## 10/25/2022

BID TO JOB

ASPEN GROUP TOWER C - UNIT N

SERVICE	ITEM COST	QUANTITY	TOTAL
PASSAGE SET INSTALLATION	\$55.00	20	\$1,100.00
PRIVACY SET INSTALLATION	\$55.00	55	\$3,025.00
ENTRY (DEAD BOLT) INSTALLATION	\$45.00	1 🗆	\$450.00
POCKET PRIVACY SET INSTALLATION	\$65.00	25	\$1625.00
POCKET PASSAGE SET INSTALLATION	\$65.00	1 🗆	\$650.00
FLUSH PULL INSTALLATION	\$25.00	30	\$750.00
PASSAGE SET FULL PREP	\$75.00	20	\$1,500.00
PRIVACY SET FULL PREP	\$75.00	55	\$4,125.00
ENTRY (DEAD BOLT) FULL PREP	\$75.00	1 🗆	\$750.00
POCKET PRIVACY SET FULL PREP	\$110.00	25	\$2,750.00
POCKET PASSAGE SET FULL PREP	\$95.00	1 🗆	\$950.00
FLUSH PULL FULL PREP	\$65.00	30	\$1950.00
DOOR-STOP INSTALLATION	\$10.00	45	\$450.00

TOTAL: \$20,075.00

Note: This bid is preliminary and is subject to change. Further discussion about job site conditions and availability of units is needed.



## 10/25/2022

BID TO JOB

ASPEN GROUP TOWER C - UNIT O

SERVICE	ITEM COST	QUANTITY	TOTAL
Passage Set Installation	\$55.00	6	\$330.00
PRIVACY SET INSTALLATION	\$55.00	1 🗆	\$550.00
ENTRY (DEAD BOLT) INSTALLATION	\$45.00	2	\$90.00
POCKET PRIVACY SET INSTALLATION	\$65.00	6	\$390.00
POCKET PASSAGE SET INSTALLATION	\$65.00	1	\$65.00
FLUSH PULL INSTALLATION	\$25.00	6	\$150.00
PASSAGE SET FULL PREP	\$75.00	6	\$450.00
PRIVACY SET FULL PREP	\$75.00	1 🗆	\$750.00
ENTRY (DEAD BOLT) FULL PREP	\$75.00	2	\$150.00
POCKET PRIVACY SET FULL PREP	\$110.00	6	\$660.00
POCKET PASSAGE SET FULL PREP	\$95.00	1	\$95.00
FLUSH PULL FULL PREP	\$65.00	6	\$390.00
DOOR-STOP INSTALLATION	\$10.00	1 🗆	\$100.00

TOTAL: \$4,170.00